



Operacions ben fetes l'última vegada: _____

Sumes

$9 + 3 =$

$9 + 6 =$

$9 + 9 =$

$9 + 5 =$

$9 + 3 =$

$9 + 5 =$

$9 + 4 =$

$9 + 9 =$

$9 + 6 =$

$9 + 7 =$

$9 + 5 =$

$9 + 9 =$

$9 + 4 =$

$9 + 7 =$

$9 + 3 =$

$6 + 4 =$

$6 + 9 =$

$6 + 7 =$

$6 + 3 =$

$6 + 6 =$

$6 + 8 =$

$6 + 7 =$

$6 + 5 =$

$6 + 6 =$

$6 + 3 =$

$6 + 9 =$

$6 + 3 =$

$6 + 4 =$

$6 + 8 =$

$6 + 7 =$

$3 + 3 =$

$3 + 6 =$

$3 + 9 =$

$3 + 2 =$

$3 + 8 =$

$3 + 7 =$

$3 + 3 =$

$3 + 5 =$

$3 + 4 =$

$3 + 8 =$

$3 + 3 =$

$3 + 6 =$

$3 + 7 =$

$3 + 2 =$

$3 + 9 =$

$5 + 2 =$

$5 + 5 =$

$5 + 8 =$

$5 + 3 =$

$5 + 8 =$

$5 + 7 =$

$5 + 9 =$

$5 + 6 =$

$5 + 5 =$

$5 + 7 =$

$5 + 4 =$

$5 + 9 =$

$5 + 2 =$

$5 + 6 =$

$5 + 7 =$

Operacions ben fetes en 2 minuts: _____



Operacions ben fetes l'última vegada: _____

Restes

$7 - 4 =$	$7 - 6 =$	$12 - 7 =$	$8 - 3 =$
$7 - 5 =$	$13 - 5 =$	$14 - 7 =$	$16 - 7 =$
$13 - 7 =$	$8 - 5 =$	$6 - 2 =$	$18 - 6 =$
$17 - 6 =$	$15 - 8 =$	$13 - 4 =$	$8 - 6 =$
$9 - 7 =$	$10 - 6 =$	$7 - 7 =$	$17 - 8 =$
$10 - 7 =$	$7 - 4 =$	$15 - 3 =$	$17 - 7 =$
$7 - 5 =$	$17 - 6 =$	$14 - 5 =$	$18 - 5 =$
$12 - 7 =$	$13 - 8 =$	$9 - 8 =$	$17 - 3 =$
$11 - 7 =$	$5 - 2 =$	$17 - 4 =$	$10 - 3 =$
$8 - 4 =$	$14 - 3 =$	$7 - 5 =$	$12 - 4 =$
$13 - 5 =$	$8 - 7 =$	$13 - 6 =$	$7 - 3 =$
$6 - 4 =$	$11 - 5 =$	$4 - 3 =$	$14 - 7 =$
$14 - 8 =$	$17 - 6 =$	$17 - 5 =$	$6 - 3 =$
$17 - 2 =$	$7 - 2 =$	$11 - 6 =$	$13 - 6 =$
$7 - 3 =$	$17 - 4 =$	$6 - 2 =$	$8 - 2 =$

Operacions ben fetes en 2 minuts: _____



Operacions ben fetes l'última vegada: _____

Multiplicacions

$2 \times 8 =$

$5 \times 7 =$

$4 \times 5 =$

$7 \times 8 =$

$3 \times 9 =$

$8 \times 4 =$

$9 \times 5 =$

$6 \times 3 =$

$4 \times 9 =$

$3 \times 8 =$

$4 \times 3 =$

$8 \times 6 =$

$6 \times 5 =$

$8 \times 5 =$

$9 \times 4 =$

$7 \times 4 =$

$3 \times 7 =$

$9 \times 2 =$

$4 \times 8 =$

$6 \times 6 =$

$7 \times 2 =$

$8 \times 3 =$

$7 \times 6 =$

$9 \times 3 =$

$5 \times 6 =$

$9 \times 7 =$

$2 \times 9 =$

$3 \times 6 =$

$2 \times 6 =$

$8 \times 8 =$

$9 \times 6 =$

$4 \times 7 =$

$8 \times 9 =$

$3 \times 5 =$

$7 \times 7 =$

$5 \times 5 =$

$9 \times 8 =$

$6 \times 2 =$

$7 \times 5 =$

$4 \times 2 =$

$7 \times 9 =$

$5 \times 8 =$

$8 \times 2 =$

$2 \times 5 =$

$6 \times 9 =$

$2 \times 4 =$

$4 \times 4 =$

$7 \times 8 =$

$5 \times 4 =$

$2 \times 3 =$

$8 \times 7 =$

$6 \times 7 =$

$3 \times 7 =$

$5 \times 3 =$

$7 \times 3 =$

$5 \times 2 =$

$3 \times 4 =$

$9 \times 7 =$

$3 \times 3 =$

$6 \times 8 =$

Operacions ben fetes en 2 minuts: _____